Formula Sheet:

Pre-Calculus Mathematics

s = 6r

sin249+ cos2 =1
tan2 0+1= sec2 0

1+c0t20= csczt9

sin(e — f) = sin axcos S — cos asin 3
cos(ax — ) = cos cxcos S+ sin asin B

tan o — tan 3
1+ tan r'tan B

tan(a — f) =
sin(a + ) = sin rcos S+ cos asin
cos(a + ) = cos rcos f—sin asin

tan o + tan 3

tan(a + f) = ———
(@+h) 1 - tan rtan

sin2¢r = 2sin o cos &
2 .2
cos2a=cos” ¢—sin” «
.2
cos2=1-2sin" &

cos2¢ = 200520:—1

2tan

1—tan2 o

tan2a =

loga(MN) = loga M + loga N
M
loga (WJ = loga M - loga N

n —_—
1oga(M )= nloga M

!
P(n,ryor P = n.
(n—r)!
!
Cn,ryor C =—""
! ri(n—r)!
_ n—ky k
he1 =aG® 0
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